
I.D.:	64078716

SET	COMPONENTE	HIDRAULICE

Data
publicarii

08.12.21 Coduri	CPV 44167100-9

Pretul
estimativ:

380,99	RON	-	380,99	RON 	 	

Descriere: AGL404	1	PC	Fl.intermediară	SAE	1.1/4"	IGR1/4"	6000	171,47	SCHRAUBEM14-70	4	PC	Inbus-
Schraube	DIN912	M14x70	10.9	SW	3,73	XVRNW25HSED	1	PC	Racord	înşurubare	AGR1.1/4"-
WD	CES30	42,49	XAHNW25S10	1	PC	Ştuţ	îmbinare	filet.	S30	CES14	76,81	XRTNW130613HL	1
PC	Ştuţ	reducţie	T	CEL15	CEL08	CEL15	37,98	UEMNW06L	1	PC	Piuliţă	olandeză	L08	M14x1,5
1,21	SRD08	1	PC	Inel	tăiere	L08	S08	1,04	MVRNW06HL	1	PC	Îmbinări	filet.pt.man.	IGR1/4"
CEL08	11,96	XMVRNW06HL	1	PC	Îmbinări	filet.pt.man.	IGR1/4"	CEL08	9,71	SRD08	1	PC	Inel
tăiere	L08	S08	1,04	UEMNW06L	1	PC	Piuliţă	olandeză	L08	M14x1,5	1,21	SFS-20	1	PC
Garnitură	flanşă	SAE	SFS	1.1/4"	PUR	13,41	SRD15	2	PC	Inel	tăiere	L15	1,73	UEMNW13L	2	PC
Piuliţă	olandeză	L15	M22x1,5	3,12


